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JE 45z E % OUT | IN | GR | HDCP | NET £ JE 45 E % OUT | IN | GR | HDCP | NET e
B |1TIE  BABA 41 | 41 6.0 35.0 [ AE 51 |80 ®RE 45 | 45 | 6.0 | 39.0
#E EH #®- 41 | M 6.0 35.0 [ AE 52 & ¥— 45 45 | 6.0 [39.0
3 BHE =A 39 | 39 | 3.6 [35.4 |AE 53 |t BEE 45 | 45 | 6.0 | 39.0
4 R¥ HK=E 38 38| 2.4 |35.6 AE 54 IvAal HX 51 51 112.0 139.0
5 |FEH EH#K 44 44 | 8.4 |35.6 AE 50 |BL ER 44 | 44 | 4.8 | 39.2
6 & HEE 44 | 44 | 8.4 |[35.6 |AE 56 |& TFF 44 | 44 | 4.8 |39.2
1 |iIk == 50 50 | 14.4 | 35.6 AE 57 |l FEX 44 44 | 4.8 139.2
8 |HH &L 37 | 37 | 1.2 |35.8 |AE 58 |FiRF B 43 43 | 3.6 [39.4
9 |iBIE 1E 37 | 37 | 1.2 |35.8 |AE 59 [/hNE  ETiE 49 49 | 9.6 [39.4
10 | =R = 43 | 43 | 7.2 | 35.8 |[AE 60 FEEE ®Z 46 46 | 6.0 [40.0 |FRE
11 s BAE 43 | 43 | 7.2 |35.8 61 |FF K& 52 52 112.0 | 40.0
12 |#EA =4 42 42 | 6.0 |36.0 62 [/NEF 1EA 52 52 112.0 | 40.0
13 |8l & 4 4 4.8 |36.2 63 [FRAIE o— 52 | 52 | 12.0 |40.0
14 |#R %X 4 4 4.8 |36.2 64 |FT  #65A 45 | 45 | 4.8 |40.2
15 |&HHE &R 4 41 | 4.8 |36.2 65 g I 44 | 44 | 3.6 | 40.4
16 |/NFF &HZ 47 47 110.8 | 36.2 66 |F)Il FEE 50 | 50 | 9.6 |40.4
17 | XK &7 39 39 | 2.4 |36.6 67 |ER &= 50 50 | 9.6 [40.4
18 |AH 243 45 | 45 | 8.4 |36.6 68 [ —AI 56 | 56 | 15.6 | 40.4
19 |#H 2 45 | 45 | 8.4 |36.6 69 |&HF IEXER 49 | 49 | 8.4 [40.6
20 B2F bthE 38 38 | 1.2 |36.8 |RE 70 |#alF  Z=A| 48 | 48 | 7.2 | 40.8 |FRE
21 \kih —@g 44 44 | 7.2 |36.8 n gk EFR 48 | 48 | 7.2 140.8
22 1A HIZ 44 44 | 7.2 |36.8 12 ¥ ERLE 48 48 | 7.2 140.8
23 | =Lt KEBB 44 | 44 | 7.2 |36.8 B EEHE = 48 48 | 7.2 140.8
24 | R {Eif 49 49 112.0 | 37.0 14 |\tkfE ER 47 | 47 | 6.0 |41.0
25 |fBR HEM 42 42 | 4.8 |31.2 5 |F5 ¥if 52 52 110.8 | 41.2
26 |FFEH =2 42 42 | 4.8 |31.2 716 |k ®EZ 57 b7 115.6 |41.4
21 |t BLC 42 | 42 | 4.8 |31.2 17 |kt BEB b5 | 55 |13.2 | 41.8
28 \HE EH# 48 | 48 | 10.8 | 37.2 18 |EREF A& b4 54 112.0 [42.0
29 {ERK B 41 41 | 3.6 |37.4 |(ZHE 9 = BB b4 | 54 1 12.0 |42.0
30 %% BT 41 41 | 3.6 |37.4 |RE 80 IO =ERX 56 56 | 13.2 |42.8 |FRE
31 ATl 5% 41 41 | 3.6 |37.4 81 |K#t &A 49 |1 49 | 6.0 [43.0
32 REER BR 41 |41 | 3.6 |31.4 82 /N HFE 61 61 |18.0 | 43.0
33 B B 47 | 47 | 9.6 | 37.4 83 [ FETF 61 61 | 18.0 | 43.0
34 |lUit Ak 47 | 47 | 9.6 | 37.4 84 | K& & b2 | 52 | 8.4 | 43.6
35 |FFH FHK= 40 40 | 2.4 |37.6 85 | K& BB 49 | 49 | 4.8 | 44.2
36 |NHE #ith 46 | 46 | 8.4 | 37.6 86 |BWR —i& 60 60 | 15.6 |44.4 |BBE
31 mE BH 45 | 45| 7.2 137.8 87 IRO EX 57 b7 | 9.6 |47.4
38 i EE 45 | 45 | 7.2 |37.8 |BEEE
39 K EE 44 | 44 | 6.0 | 38.0
40 (ki FE 44 44 | 6.0 [38.0 \FRE
M BT EHR 50 | 50 | 12.0 | 38.0
42 |th#t fE=E 49 49 110.8 | 38.2
43 KB #HRE 42 42 | 3.6 |38.4
44 \BH tEHZz 48 | 48 | 9.6 | 38.4
45 |\ RE 41 41 | 2.4 138.6
46 |Kith Bh 47 47 | 8.4 138.6
47 |FIL 1EX 47 | 47 | 8.4 138.6
48 &M 1HRE 46 46 | 7.2 |38.8
49 |BE HRR 52 | 52 | 13.2 | 38.8
50 & HE 52 | 52 |13.2 | 38.8 |{kE
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